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QUESTION 1

You are about to allocate storage to a host that includes adding new paths, devices, and zones to the configuration.
What must be done prior to making any changes to the configuration? (Choose two.) 

A. create new zones 

B. activate change tracking 

C. activate the new zone set 

D. backup the configuration 

E. copy the active zone set 

Correct Answer: DE 

 

QUESTION 2

What two (2) technologies are commonly used in a business continuity plan? (Choose two.) 

A. tape backup with restore to a remote site 

B. subsytembased synchronous replication to a remote site 

C. subsystembased asynchronous replication to a remote site 

D. subsystembased replication in the same datacenter 

E. virtual tape library with restore to a remote site 

Correct Answer: BC 

 

QUESTION 3

You have recently upgraded a tape drive on a older switch to operate at 120MB/s from 80MB/s. Prior to purchasing the
tape drives, you tested server dumps to a disk array across multiple ports and saw speeds exceeding 150MB/s. With
the new tape drive, you have not seen any dump speed exceed 100MB/s. What is the most likely cause? 

A. The new tape drive has logged into the fabric as a storage initiator. 

B. The switch only has 1Gb/s ports. 

C. You have not yet reset the switch port buffer credits. 

D. The tape drive has logged in as an iSCSI device. 

Correct Answer: B 
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QUESTION 4

What enables a virtual machine to have a unique World Wide Port Name? 

A. Address Replacement Protocol 

B. Virtual Machine Address Translation 

C. N_Port ID Virtualization 

D. extended WWID Architecture 

Correct Answer: C 

 

QUESTION 5

The SAN audit reports that there is a single fabric in a full mesh topology. Which three benefits result from migrating to
dual fabrics with full mesh topologies? (Choose three.) 

A. requires fewer interswitch links 

B. simplifies management 

C. minimizes disruption due to configuration error 

D. minimizes disruption due to maintenance 

E. reduces maintenance activity 

Correct Answer: ACD 
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